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Multiple Choice Questions

The  number  of  electrons,  neutrons  and  protons  in  a  species  are  equal  to  10,  8  and  81.

respectively. The proper symbol of the species

O816A.

O2-816B.

O-816C.

O818D.

Answer

A  600  W  mercury  lamp  emits  monochromatic  radiation  of  wavelength  331.3  nm.  How  many2.

photons  are  emitted from the lamp per  second? (h  = 6.626 x  10-34  Js;  velocity  of  light  = 3×108

ms-1).

1 × 1019A.

1 × 1022B.

1 × 1021C.

1 × 1023D.

Answer

The shortest wavelength in hydrogen spectrum of Lyman series when RH = 109678 cm-1 is3.

1002.7 ÅA.

1215.67 ÅB.

1127.30 ÅC.

911.7 ÅD.

Answer

Which of the following statements is false?4.

H2  molecule has 1σ bond A.

Acetylene molecule has 3σ bonds and 3Π bondsB.

HCl molecule has 1σ bondC.

Water molecule has 2σ bonds and two lone pairsD.

Answer

N2 and O2 are converted to monopositive cation N2+ and O2+respectively. Which is incorrect?5.

In N2+, the N-N bond weakened.A.

In O2+, the bond order increasesB.

In O2+, paramagnetism decreasesC.
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N2+  becomes diamagneticD.

Answer

A netural molecule XF3 has a zero dipole moment. The element X is most likely6.

chlorineA.

boronB.

nitrogenC.

carbonD.

Answer

56 g  of  nitrogen and 96 g  of  oxygen are  mixed isothermally  and at  a  total  pressure of  10 atm.7.

The partial pressures of oxygen and nitrogen (in atm) are respectively

6,4A.

4,6B.

5,5C.

2,8D.

Answer

How much  time  (in  hours)  would  it  take  to  distribute  one  Avogadro  number  of  wheat  grains,  if8.

1020 grains are distributed each second?

0.1673A.

1.673B.

16.73C.

167.3D.

Answer

The  first  ()  and  second  (ΔH2)  ionisation  enthalpies  (in  kJ  mol-1)  and  the  (ΔegH)  electron  gain9.

enthalpy (in kJ mol-1) of the elements I, II, III, IV and V are given below

Element ΔH1 ΔH2 ΔegH

I 520 7300 -60

II 419 3051 -48

III 1681 3374 -328

IV 2372 5251 +48

The most reactive metal and the least reactive non-metal of these are respectively

 

I and IVA.

IV and IIB.

II and IVC.

III and IVD.
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Answer

Calculate the standard enthalpy change (in kJ mol-1) for the reaction10.

    H2(g) + O2(g) → H2O2(g)

Given that bond enthalpies of H-H, O=O, O-H and O-O (in KJ mol-1) are respectively 438, 498, 464

and 138.

 

-130A.

-65B.

+130C.

-334D.
Answer

According  to  the  first  law  of  thermodynamics  which  of  the  following  quantities  represents  the11.

change in a state function?

qrev + WrevA.

qrevB.

qrev - WrevC.

qrev / WrevD.

Answer

The aqueous solution of which of the salt has pH close to 7?12.

FeCl3A.

CH3COONaB.

KCNC.

CH3COONH4D.

Answer

Consider the following reactions in which all the reactants and the products are in gaseous state13.

  2PQ ⇌ P2 + Q2; K1 = 2.5 × 105PQ + 12R2 ⇌ PQR: K2 = 5 ×10-3The value of K3 for the equilibri

um 12P2 +12Q2 +12R2 ⇌PQR, is

2.5 × 10-3A.

2.5 × 103B.

1.0 × 10-5C.

5 × 103D.
Answer

200  mL  of  water  is  added  to  a  500  mL  of  0.2  M  solution.  What  is  the  molarity  of  this  diluted14.

solution?

0.5010MA.

0.2897MB.
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0.7093C.

0.1428D.

Answer

If the activation energy for the forward reaction is 150 kJ mol-1 and that of the reverse reaction is15.

260 kJ mol-1, what is the enthalpy change for the reaction?

410 kJ mol-1A.

110kJ mol-1B.

-110 kJ mol-1C.

-410 kJ mol-1D.

Answer

All carbon atoms are sp2-hybridised in16.

1, 3-butadieneA.

CH2=C=CH2B.

cyclohexaneC.

2-buteneD.

Answer

The decreasing order of acidic character among ethane (I),  ethene (II),  ethyne (III)  and propyne17.

(IV) is

(I) > (II) > (III) > (IV)A.

(II) > (III) > (I) > (IV)B.

(III) > (IV) > (II) > (I)C.

(IV) > (III) > (II) > (I)D.

Answer

The alkene that will give the same product with HBr in the absence as well as in the presence of18.

peroxide is

2-buteneA.

1-buteneB.

propeneC.

2-methylpropeneD.

Answer

Hyperconjugation is most useful for stabilising which of the following carbocations?19.

Neo-pentylA.

Tert-butylB.

Iso-propylC.

EthylD.

Answer

The isomerism that arises due to restricted bond rotation is20.

metamerismA.
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optical isomerismB.

position isomerismC.

geometrical isomerismD.

Answer

The IUPAC name of the following compound,[(CH3)2CH—CH2—CH=CH—CH=CH(C2H5)—CH3] is21.

2, 8-dimethyl-4, 6-decadieneA.

1, 1, 7, 7-tetramethyl-2, 5-octadieneB.

1, 5-diisopropyl-1, 4-hexadieneC.

3, 9-dimethyl-4, 6-decadieneD.

Answer

Chlorination of benzene in the presence of halogen carrier is an example of22.

aromatic nucleophilic substitutionA.

aromatic electrophilic substitutionB.

aromatic nucleophilic additionC.

aromatic electrophilic additionD.

Answer

Aryl  halides  doesn't  undergo  nucleophilic  substitution  reactions  under  ordinary  conditions23.

because of

1. approach of nucleophile is retarded

2. carbon carrying halogen atoms is sp3-hybridised

3. the substrate molecule is destabilised due to resonance

4. partial double bond character between carbon and halogen

2 and 4 onlyA.

1 and 4 onlyB.

2 and 3 onlyC.

2, 3 and 4 onlyD.
Answer

Which of the following undergoes reduction with hydrogen peroxide in alkaline medium?24.

Mn2+A.

FeOB.

PbSC.

HOClD.

Answer

The metal that produces red-violet colour in the non-luminous flame is25.

BaA.

AgB.

RbC.

PbD.
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Answer

In  Lassaigne's  test  for  the  detection  of  halogens,  the  sodium  fusion  extract  is  first  boiled  with26.

concentrated nitric acid. This is

to remove silver halidesA.

to decompose Na2S and NaCN, if presentB.

to dissolve Ag2SC.

to dissolve AgCN, if formedD.

Answer

In  Lassaigne's  test  for  the  detection  of  halogens,  the  sodium  fusion  extract  is  first  boiled  with27.

concentrated nitric acid. This is

to remove silver halidesA.

to decompose Na2S and NaCN, if presentB.

to dissolve Ag2SC.

to dissolve AgCN, if formedD.

Answer

According  to  Ellingham  diagram,  the  oxidation  reaction  of  carbon  to  carbon  monoxide  may  be28.

used to reduce which one of the following oxides at the lowest temperature?

Al2O3A.

Cu2OB.

MgOC.

ZnOD.

Answer

Halogens  exist  in  -1,+  1,  +  3,  +  5  and  47  oxidation  states.  The  halogen  that  exists  only  in  -129.

state is

FA.

ClB.

BrC.

ID.

Answer

Among the oxyacids of phosphorus, the dibasic acid is30.

H3PO3A.

H4P2O7B.

H2PO2C.

HPO3D.

Answer

Pick out the correct statement(s).31.

1. Manganese exhibits +7 oxidation state

2. Zinc forms coloured ions
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3. [CoF6]3- is diamagnetic

4. Sc forms +4 oxidation state

5. Zn exhibits only +2 oxidation state

1 and 2A.

1 and 5B.

2 and 4C.

3 and 4D.
Answer

The maximum oxidation state exhibited by actinide ions is32.

+5A.

+4B.

+7C.

+8D.

Answer

he amount  of  solute (molar  mass 60 g mol-1)  that  must  be added to  180 g of  water  so that  the33.

vapour pressure· of water is lowered by 10%, is

30gA.

60gB.

120gC.

12gD.

Answer

Which of the following species can function both as oxidising as well as reducing agent?34.

Cl-A.

ClO4-B.

ClO-C.

MnO4-D.

Answer

One  Faraday  of  electricity  is  passed  through  molten  Al2O3  ,  aqueous  solution  of  CuSO4  and35.

molten NaCl  taken in  three different  electrolytic  cells  connected in  series.  The mole  ratio  of  Al,

Cu and Na deposited at the respective cathode is

2: 3: 6A.

2: 3: 6B.

6 : 3 : 2C.

1 : 2: 3D.

Answer

Half-lives of a first order and a zero order reactions are same. Then, the ratio of the initial rates36.

of first order reaction to that of the zero order reaction is

1/0.693A.
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2 ×0.693B.

0.693C.

6.93D.

Answer

The dispersed phase and dispersion medium in soap lather are respectively37.

gas and liquidA.

liquid and gasB.

solid and gasC.

solid and liquidD.

Answer

In petrochemical industry, alcohols are directly converted to gasoline by passing over heated38.

platinumA.

ZSM-SB.

ironC.

nickelD.

Answer

Which among the following statements are true for the complex [Co(NH3)6][Cr(CN)6]?39.

1. It is a non-electrolyte

2. The magnitude of the charge on each complex ion is 3

3. The complex will not conduct current

4. The complex will exhibit coordination isomerism

5. The magnitude of the charge on each complex ion is 1

2 and 4A.

1 and 4B.

3 and 5C.

1 and 2D.
Answer

An example of ambidentate ligand is40.

thiocyanatoA.

aquoB.

chloroC.

ammineD.

Answer

Choose the weakest add among the following41.

(CH3)2CH—COOHA.

F3C—COOHB.

F—CH2—COOHC.

CH3—COOHD.
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Answer

Aldehydes that do not undergo aldol condensation are42.

1.propanal

2.Trichloroethane

3. methanal

4. benzaldehyde

3 and 4 onlyA.

1,2and 3 onlyB.

3 and 4 onlyC.

2,3 and 4 onlyD.
Answer

Which compound among the following give/s positive iodoform test?43.

1. Ethanol

2. Ethanal

3. 1-butanol

4. 2-butanol

1,2 and 4A.

1, 3 and 4B.

1, 2 and 3C.

1 and 2D.
Answer

Amine that cannot be prepared by Gabriel phthalimide synthesis is44.

anilineA.

benzylamineB.

methylamineC.

iso-butylamineD.

Answer

Which of the following is the least basic amine?45.

EthylamineA.

DiethylamineB.

AnilineC.

BenzylamineD.

Answer

Which of the following bases is not present in DNA?46.

UracilA.

AdenineB.

ThymineC.

GuanineD.
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Answer

Lactose is made of47.

α-D-glucose onlyA.

α-D-glucose and  β-D-glucose B.

α-D-galactose and β-D-glucoseC.

β-D-galactose and β-D-glucoseD.

Answer

The artificial  sweetener  containing chlorine  that  has  the appearance and taste  as  that  of  sugar48.

and stable at cooking temperature is

aspartameA.

saccharinB.

sucroloseC.

alitameD.

Answer

Cetyltrimethyl ammonium bromide is a popular49.

anionic detergentA.

cationic detergentB.

non-ionic detergentC.

sweetenerD.

Answer
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